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import java. io. *;
import java.util. Scanner;
public class kal3 {
public static void main(String[] args) throws IOException {
Tenpol[] tp = new Tenpo[4];
tp[1]=new Tenpo("A > T A > av7");
tp[2]= new Tenpo (" HFJE") ;
tp[3]= new Tenpo (" KFxJE”) ;
BufferedReader fileln = new BufferedReader (new FileReader (“kal3.csv”));
String line;
while((line = fileln.readLine()) != null) {
String[] str = line.split(”,”);
int hiduke = Integer. parselnt (str[0]);
int tenCode = Integer. parselnt (str[1]);
int tyuCode = Integer. parselnt (str[2]);
int suryo = Integer. parselnt (str[3]);
int tanka = Integer. parselnt (str[4]);

@ :

fileln. close();
Scanner sc = new Scanner (System. in) ;
System. out. printf ("JE&i=— RAZ AN LT EEV=7);
int nyuCode = sc. nextInt();
while (nyuCode != 0) {
@
System. out. printf ("JE&fiz— K2 AL TL7ZE0=7);

nyuCode = sc.nextInt();

>

}

sc. close();
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public class Tenpo {
public String tenMei;
public String[] buMei = {"”, "7Lo ¥ 7T IA LN T V=T R
ek o )
public int[] kin = new int[6];
public int[] su = new int[6];
public Tenpo(String tenMei) {
this. tenMei = tenMei;
}

public void keisan(int tyuCode, int suryo, int tanka) {
int bunCode :‘() ;
int kingaku = suryo * tanka;
kin[bunCode] = @) ;
sulbunCode] = (& ;

public void hyoji() {
System. out. print1n(® ) s
for(int i =@ |; ;i) |
int heikin = kin[i] / sulil;
String hantei;
ir (@ D 1
hantei = "©”;

Jelse ifq ‘) {
hantei = "Q7";

Jelse {
hantei = 7 7;

}
System. out. printf (” %6s %9d  %d  %5d  %ls¥n”
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